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Solutions =-—se————

4. \What s the numerical value for each
rational expression ? Tdentify any
non-permissible vValues.

a) 28-8s B Ay-3
5 3I-5%

= —of = =3
Z -5Xx+3

-6 .8+0 =5x73
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9. Simpl I'FY each product. Determine all
noN- pcrm\s&b\e values.
a) 2 X b) 4 x|
2)(\0 %CL 4m* —
- mcg)% 43 t
= ZOQ = e m#iO #O
?r 4t3
=l Bq . T#Q, p20
2r ..
c)3a+3hx 4 d) x4 x2x+o><
o) a+b X*+25 XEE 22X
= 3ot X 4 = (X226 X 2#(X+5)
S QD b . L K AT
= (3)(H) = LX=HXFD) ‘Xaf:o, 2
< Yk 2P ko) ) .
)
= _%, a#£-b
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e) d1+3c4 +2, v 2d+G6

+ 2, d2+5d+6
- L@,\M)(M) X_2(H3)

z&dﬁ) @M)M)

$)¥M X y*9 +8X§12,_25_f'
-0y +9 V

2__

ey

(g;ﬁ)gﬂ % (wr’)(\/ -8) x (=X Y+5)

SIS i N E ”W‘""ﬂ y—\w
(5~ % €
(v =1) -
(\f ?ﬂC\H-S)

I

1!

II

\é)(\H—S) '\}# 9,-1,8
(\r —-1)

|0. Divide. Express answers in Simplest

form. Tdentify any Non-permissible
values.

Q) 2t~
L_}.
= 2t X4
1
3L

1
3t

1l

il
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by g3 —a?
b3
X % b
;3»3’

b”r
b
= 1, a¥0,b#¥O
b

d) &:H—C% =~ q +C:c1+q

_ :3(a+3) - r’otz‘iqﬁ)

3 Cn}*ﬁ) A :5’.‘____
CQEZS)M)
QE*3

Il

|l

a+3
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Il Multiply or divide as indicated.
press’ answers in simplest form.
Derermine all non-permissible values.

a) 4 -3 %x m

2 ™M =
= 9 w £ XM,
297 0 3 P
Q@B
= 9m
1%
= %‘\:jm#o

) XZ-3%x+2, x Xx3 +_1
XZ=H b S o, S ' 2 3

= (A=) X XATD x XA
C2DHT) XXAD)

= A=) xF7E,0,-3

%

15 Add or subtract. £xpress answers in
simplest form. Tdentify any
Non-permisSsible values.

Q) 4X-3 - X-2

G <.
= 24%-3) — 3A(x-2)
o 3
2 (L X-3)-3(x-2)

|2
= Ix—G-3X+&
e F,
= OX.
Lr

I
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X-3  X=9
= _9 + 1

X-3 (X-3)XX+3)
= a(xX+3) + 1.

-2 4]
CX-B)X+3)

TN

d)_a - a*3a.
a+ld a*+a-G
= _a -qala-3)

o+3  (a+3)(0R)
=_ala-2) —a(a-3)

Q*-2qQ -a*+39
Cao+3)a-2).

Q_. QAF-3,2
Co+3)(0-2)’

—
Sy

B (X-3XX+3) H-3XX+HR)

qx+34 Wk T3

B Ca+3X0-2) (a+3Xa-2)
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20. Solve each ratjonal % uotion. Tdenhfy
‘all non-permissible valu |

a) S-3 =12,
St3

%[ 5_9_1 Stal 2]

S— 3 2(s+3)
S—,‘B:ZS—E%
-3 =2S-S
-A=8,8+5

). _f&m_g 2&% o
(3%4-?:)()(—1)[ %t 2 'l = C3x+2)()seaﬁ[ xX4+3 ]
1 (x—\)(m—z) (3x+2)(X+3)
X242 X~ % - 3X2+IX+2X+ 6
X 24 X 2 AR+ IX+6 ,
O = B2 X 4| X=X +6+ 2
O= OX*+ 10X +8

O=20X*+5x+4)
O= 2. X+ DXx+4)

O= X+ or O= xX+4
— =X ~d=X , X#F2 )
3
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c) LL + 1 =-4
S S5Z

a{i2] v ] 5ok
5(z-2)+ z(1) = -4

52_-10-\-7_ = -4
—-L~H—!O

A
% j(_o)thO
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